HA3.1

1)  Solve the inequality 4x — 6 < 2x + 3

2)  Expand and simplify 3(2x + 3) + 4(6 — 3x)

3) Workout 52_13
7 4

4)  Work out 3.6 x 4.6

5)  Work out 2802 + 0.6



HA3.2
1)  Simplify V75 4+ 3v12

2)  Simplify (2xy?)3

3) Complete 4.5cm?=....... mm

X+a

4)  Make x the subject of y = -~

5) Calculate the area of a semi-circle with diameter 12cm. Leave
your answer in terms of 1t



HA3.3
1)

2)

3)

4)

5)

Solve the inequality 3x — 5 > 5x+ 7

Expand and simplify 5(a — 2b) — 3(b + 2a)

Work out 23+ 1E
3 5

Work out 0.28 x 3.9

Work out 47.67 + 0.7




HA3.4
1) Simplify 2v/75 + V8 + /27 — 312

D=0

2)  Simplify a* x a? x b3 +a

3) Complete 65cm?=.......... m

4)  Make x the subjectof 9+ ax =3x—b

5) Calculate the area of a semi-circle with diameter 5cm. Leave your
answer in terms of it



HA3.5
1)  Solve the inequality 7x + 5 > 5x — 7

and show the solution on a number line

2)  Expand and simplify 3(2a — b) + 3(4b — 3a)

3) Workout 4193
6 5

4) Workout 0.34x3.5

5) Workout 2.07 +0.6



HA3.6 =]

1)  Simplify V20 + 2v/45 + v/50 + /80 [&]

2)  Simplify a® x a® x b? + a?

3) Complete 65cm? = .......... mm

4)  Make x the subjectof ax = xy + b

5) Calculate the area of a semi-circle with diameter 10cm. Leave
your answer in terms of 1t
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